Roll No:-
(Sem-11/1) Diploma Exam 2024 (Even)
(Common Branch) (Theory)
[Time: 3 Hours] Applied Chemistry ( 2001103-P) [Full. Marks: 70]

- All questions are compulsory. (et s stfarf 2 |)
- Marks are mentioned on the right side of each question. (3% &ft w5 & € v sifea 5 2|)

Group (A) (YU -¥)

Q.1  Answer all questions as directed. (2x10=20) | Marks | CO | BL
(e Wit weat & 3o &)
a) The number of angular nodes in4fis .................. 2 1 3
(0/1/213)
4 FH FIONT Alg Fr &I ... g
(0/1/213)
b) Galvanic cell converts ........................ into .................. 2 5 1
(Chemical energy, Electrical energy/ Electrical energy, Chemical energy/light, heat)
Fedfad T e 2 # gRafdd &ar &
S 3, [aegd Fatt/faegd Soll, TArfAS Fotl/ehTer, FSAT)
¢) In EDTA method indicator used is EBT (True/false) 2 2 1
EDTA fafty § v Y@ EBT (Wc/3ic) 8
d) Match the following 2 3 |2
1. Copper a) Condensation
2. Nylon 6,6 b) metal
c) lubricant
frfaf@a = A
1. qrem &) Helel
2. STl 6,6 ) &g
) g
e) 2 1 1
Standard reduction potential of SHE is (-0.059V/ +0.059V/ 0.0V)
SHE &1 HM® 9o fava (-0.059V/ +0.059V/ 0.0V) §
f) No. of orbital in 4" subsell is (41 16/32) 2 3 |2
N IUBI T Bl Bl =  (4/16/32)
g) Temporary hardness of water is due to presence of .(Mg( HCOs3)./ MgCl/ 2 2 1
CaSO0.)
T P SRR S RaT B! IURITA P SR Il &1 Mg( HCO3)2/ MgCly/
CaS0y)
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h) Impurities present in ore is called .............

)

Q.2

03

Q4

(Slag/Flux/gangue)

ER H Al Yfedt @4 ... . ET ST &
(TolaT/FeIaFa/3am)

The shape of NHs is .(V shaped/ pyramidal / Tetrahedral)
NH; T 3THR g1 (V 3R / RIfrsd / 2erega)
Hybridisation in water is ( SP® SP%/SP)

EREESETU ( SP¥ SP%SP) &

Group (B) (gq-'q"l)

Answer all five questions. (T8 T 99T & 3R ¢)

4x5=20

10 litre of water contains 19.0 mg Mgcl, and 16.2 mg of Ca (HCO3).. Calculate

temporary, permanent and total hardness of water.

10 e 9= & 19.0 fAN I Mgcl, 3R 16.2 fAel Imd Cca(HCO3), graT

g1 UTell I YR, TR 3R FHel HORAT HI I0EAT H |

OR (31Yd)
Define
a. PPM
b. Degree clark

gReTiRa &Y
a. grdTH
REUIETIED

Explain Octane number.
3T HEAT HHSSU|

OR (31YdT)
Define HCV and LCV.
TTHTAT 3R TAHdr @ RN T HL|

Explain Faraday’s law of electrolysis.

thaTs & faegd-3raaes & g Fr carear H|
OR (31¥d)

Illustrate Cell reaction
a. Zn/Zn™Il AgIAg
b. Cr/Cr®// Pb**/Pb

{e 3TATHAT 1 AT HL

a. Zn/zn**// Ag/Ag
b. Cr/Cr¥// Pb**/Pb
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Q5

Q.6

Q.7

ok:

Q.9

The Resistance of wire is 10Q2 is stretched to double it’s length calculate new
resistance .

IR T ITCRIET 100 &, 38 Terehl SHT oIS ST 3 & SATell &, 773 Tieikier
Y IT0TAT hITTT

OR (31Yd)
Define
a. Molar conductivity b. Equivalent conductivity.
g &

a. ATeR ATelehdT b. {'IH(;I(**LI dTelehdT |

Explain aufbau principle
a3 fagTd i sarear &Y
OR (31Yd)

Write postulates of Bohr Model of atom.

WA & &R Hisel & JfAURONC faf@w|
Group(C)(‘g'q-@)

Answer all five questions. (Tt UFg Ui & IWR S |) 6x5=30
12 Kg of carbon is completely burnt with oxygen .How much air is required.

12 TehelTaITH shleleT et HTereToTel & |1 T e STellAT SI1T & | fehcelr gar &t
TIThAT &?

OR (31T

How calorific value is determined by bomb calorimeter.

TH HelIHIC SaRT el AT &7 fTeRoT 4 o Sar g2

Explain
a) Hybridisation
b) de Broglie relationship

SITEAT Y
a) THIOT
b) S STl G
OR (3{YdT)

lonisation energy of Hydrogen atom is 13.6ev . calculate ionization energy of He™ ion
and Li™" ion.

gISgIolel IXATY] I 30T Foil 13.6ev &1 He' 3maeT 3R Li*
3 T HTIATROT Foll HT 0T HY

Discuss differences between metallic conductor and electrolytic conductor.

¢fcas $hsFeX IR SoFeiasiesd FsFel & ag Il 9 Tdm |
OR (373a)

Explain the process of charging and discharging in lead storage cell

A8 TR A H arferer 3R feranferer & ufhar gasmsT
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Q.10

Q.11

Write the monomers of the following

a) Nylon -6,6 b) Neoprene c) Terylene d) PVC
farfaf@a & Aaad afge
T) ATald -6,6 &) e &) el 3 ddEr
OR (31Yd)

Explain the steps involved in the extraction of iron from haemetite..

gHcse ¥ dig [Asevur F anfAer o i carear Y

Explain them.
a) BOD b)COD

38 GHS3.
T) i3 &) denEr
OR (37YdT)

Explain the process of determination of hardness of water by EDTA method

el T FoRar & AuRor § epTA R_AfY RuRa )
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